# Bill for Labour Charges

### Md Nadeem, H.No - 12-9-125/47, Chilakalguda Hyderabad

Date: 24.03.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Plumbing Work.

Towards:

Labour Charges

S No.	Description Description	
1.	Dilei description of work done.	Amount
	Final Fitting work inside the Flat (Stage - 5).  Total Amount = 15 960/-	Rs. 6,384/-
	Work done from date 01.03.2025 to 20.03.2025.	

Amount in words: Six Thousand Three Hundred and Eighty Four Rupees Only

Sign:	

# Bill for Equipment Allowance

Md Nadeem, H.No - 12-9-125/47, Chilakalguda Hyderabad.

Date: 24.03.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location: Type of Work:

Pocharam.

Towards:

Plumbing Work.

Allowance for Equipments

S No.		
	Description  Brief description of work done: Towards Block - A - Flat No - A - 201, 203, 808, 809- On Completion of CP and Sanitarty  Final Fitting work inside the Flat (Stage - 5).  Total Amount = 15,960/-  Work done from date 01.03.2025 to 20.03.2025	Amount Rs. 6,384/-

Amount in words: Six Thousand Three Hundred and Eighty Four Rupees Only.

Sign:	_
-------	---

## **Bill for Consumables**

Md Nadeem, H.No - 12-9-125/47, Chilakalguda Hyderabad.

Date: 24.03.2025

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights. Pocharam.

Location:

Type of Work:

Towards:

Plumbing Work.
Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Block - A - Flat No -A - 201, 203, 808, 809- On Completion of CP and Sanitarty Final Fitting work inside the Flat (Stage - 5). Total Amount = 15,960/-	Rs. 3,192/-
	Work done from date 01.03.2025 to 20.03.2025	

Amount in words: Three Thousand One Hundred and Ninety Two Rupees Only.

2.00 1.00 1.00 1.00 2.00 1.00 1.00 1.00	1.00 1.00	1.00 1.00 1.00
1.00 1.00	2.00 1.00 1.00 1.00 2.00 1.00 1.00 1.00	2.00 1.00 1.00 2.00 2.00 1.00 1.00 2.00 2.00 1.00 1.00 2.00
2.00 1.00 1.00 2.00 1.00 1.00	2.00 1.00 1.00 1.00 2.00 1.00 1.00 1.00	2.00 1.00 1.00 2.00 Finis  2.00 1.00 1.00 2.00 Finis
2.00 1.00 1.00 2.00 1.00 1.00	2.00 1.00 1.00 1.00 2.00 1.00 1.00 1.00	2.00 1.00 1.00 2.00 Flats 2.00 1.00 1.00 2.00 Flats
2.00 1.00 1.00 2.00 1.00 1.00	2.00 1.00 1.00 1.00 2.00 1.00 1.00 1.00	2.00 1.00 1.00 1.00 2.00 Flats 2.00 1.00 1.00 1.00 2.00 Flats
2.00 1.00 1.00 2.00 1.00 1.00	2.00 1.00 1.00 1.00  2.00 1.00 1.00 1.00	2.00 1.00 1.00 1.00 2.00 2.00 1.00 1.00 1.00 2.00
1.00 1.00	Width Height No's Quantity (1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.0	Width Height No's Quantity Units  1.00 1.00 1.00 2.00 Flats  1.00 1.00 1.00 2.00 Flats
	1.00 Vo's	No's Quantity Units  1.00 2.00 Flats  1.00 2.00 Flats
1.00		Quantity Units  Output  Do 2.00 Flats  Output  Do 2.00 Flats
	2.00 2.00	Units ) Flats



# Anx B - Work Completion Report

required i.e., details cannot be extered to the property and adjugator credit (d contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only us required i.e., details cannot be extered to the property of the full furthount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of directors sign of respective E&D members. On the property of t	mement and est	ttach measu	is not issued A A	n even if work order	typed 3. Use this form	and adjugator credit (d contractors 2. This word form must be typed. 3. Use this form even if work order is not assued. 4. Attach measurement and estimate sheets only of	ort and advice for credit to co	required i.e. details cannot be a read here.	quired i.e., details c
			ie:	Date:		Date:	13-5		Date:
			Ħ	Sign:		Sign:	YB	APPROVED	Sign:
	&D team	irector/E	Approved by Director/E&D team	Apı		Approved by QS team		Approved by project manager	Approved by
15,960		1002							Remarks:
16.0									10.
									9.
		+							œ
		+							7.
		+							6.
									ŗ
9	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	- 1				stage 5 works	Flat no 808 & 809 stage 5 works		4.
8 260	4 180 00	43	PR 143	Flats	2.00	CP & sanitary final fitting work inside flat	CP & sanitary final		٠
,						stage 5 works	Flat no 201 & 203 stage 5 works		,
7 600	3.800.00	43	PB 143	Flats	2.00	CP & sanitary final fitting work inside flat	CP & sanitary final	A-Block	ع  ا
Amount	Ö	Rate	Rate ID	Units	Qty		Details of Work	по	
		ed?	T bill required?	GST		Contractor bill no.		I lait/Ma	SI No
	NA		O issued?	WO	10/03/25			2 2	WO date
		Ċ	M-codex bill ID.	¥.	28/02/25	ate		N A DIOCK	WOno
	25/03/25		Dt. site bills reg.	Dt.	Plumbing		ignts	A Block	Block no
	541		or, 140, one office leg.	25.					Project/site